It was 15°C when Mr Stray came to
school. The temperature rose by 10°c by
lunchtime. What was the temperature?

On Tuesday the temperature was 37°c.
On Wednesday it was 42°c. What was
the difference?

Tony had a drink that was 42°c. It cooled
down by 15°c. What was its final
temperature?

Miss Warne had a put some ice in her
drink which dropped the temperature
by 5°c from 25°c. What temperature
was the drink?

The temperature of the school fridge
was -2°c. It went up 2°c, what was the
temperature?

Which temperature is hotter, -40°c or
20°c?

The temperature is 0°c. It drops 4°c.
What is the temperature now?

It is 45°c in London and 32°cin
Purbrook. What is the difference in
temperature?

It is 35°c in Scotland and the
temperature drops 12°c. What is the
temperature now?

| have a temperature of 37°c and it goes
up 11°c. What is my temperature now?

It snows and the temperature is 15°c
below freezing. What is the
temperature?

Which temperature is colder, -5°c or -
2°c?

The classroom temperature is 35°c and
goes down 4°c in 2 hours. What is the
temperature now?

In the morning my car is 11°c. By the
time | drive home it is 54°c. How much
has it gone up?

To cook my dinner, | need to heat my
oven up to 95°c. It is 20°c. How much
more does it need to go up?

It is 22°c in my house and outside it is
5°c lower. What is the temperature?



